PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
18th July 2016, 09:00 AM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

Which of the following is the birthplace of Dr. B R Ambedkar? / frafafed 9 @ sf dt 3R srasH: @t
YT i 32

* Ambavade / SFTATS
® Thane / 4TH

* Baroda / SSIal

e Mhow / HE

Correct Answer :-Mhow / Hg

2)
Question Stimulus :-

Which are among the more important of the minerals of Madhya Pradesh? / g d 9 aw Q%QT & 3fd W
@i &9 3 82

® Zinc and manganese / STl Gﬁ?ﬁ'ﬂ:ﬂﬁ

® Mica and coal / SIYD 3R Hrgen

® Silver and copper/ﬂm 3R aia

® Coal and iron / PIITT 3R dig
Correct Answer :-Coal and iron / STl 3R Fﬁ?
3)

Question Stimulus :-

Under what Article of the Constitution of India can the President take over the administration of a state in case

its constitutional machinery breaks down? / W AfqUT & fopa Glﬁi[@_c{ & 3ffa Wﬁf faurfe o=
¥ geq R et oft o & e 3 RS A By H @ W §2

o Art. 83/ 3G 83



o Art. 352/ 3G 352
° Art. 356 / TG 356
o Art. 343 / 3G 343

Correct Answer :-Art. 356 / 359G 356
4)
Question Stimulus :-

Choose Fhe number which is different from others in the group. / 39 JB1 Cal gﬁ'&
o 9Yg H 91! 9T A 3T 3

e 27

° 125

® 343

° 1321
Correct Answer :-1321
5)

Question Stimulus :-

The mother of Radha is the only daughter of Nirmala's father. How Nirmala is related to

Radha? / T & A1 fAdar & fUar &1 seaial 9dt 81 FAdar T 9 $9 d&fta 82
® Sister / 95
® Mother / HIdl
* Aunt / 3fidl
® Can't determine / fAuffea Hﬁiﬂﬂﬁ
Correct Answer :-Mother / HIdl
6)

Question Stimulus :-

Which is India’s first Scorpene-class submarine? / HIRd | tl??ﬁ THIdg— qit W;Iw CAE| H %?
® INS Shalki / 3T$UCH ATAP



® INS Khanderi / 3TSTA0H Ga31

® INS Shankul / 3TSTUH Xipd

® INS Kalvari / &ni'@w FAAR]
Correct Answer :-INS Kalvari / 3TSUAEH HaAaR]
7)
Question Stimulus :-

Four students Arvind, Bhasker, Chander and Dravid are sitting in row. Arvind is next to
Chander, Dravid is not next to Bhasker, Chander is next to Bhasker. Which of the following
is an acceptable arrangement? The first of the names are quoted below / dR B

YR, Ie3 U4 5faS Ufed A 93 8| SRfd, X & T # ¢, gfas, HRPR F Td § 781 8, I, WY
%Wﬁﬁﬁgﬁ@ﬁﬁﬂﬁﬂ@ﬁﬂﬁ@ﬂﬁﬁﬂ?ﬁ%?m%ma{&nﬁm%

e ABCD

e ACBD

* DACB

e ACDB
Correct Answer :-DACB
8)
Question Stimulus :-

Who heads the Scientific Advisory Council to The Prime Minister? MU & aﬁTﬁﬁ? TdlgPhI¥ tlﬁ'ﬂ?:." &
e B g2

® Pradyut Ghosh / Ygad 91y

® D Sivananda Pai/ St ﬁﬁ'l_"lv_dqrg

® Upinder Bhalla / 3fU=ax Hee

e CNR Rao/ HITH3R 34
Correct Answer :-CNR Rao / TSR I
9)

Question Stimulus :-

Girija, Ishan, Francis and Hema are sitting on a bench. Francis has Hema next to her on her left. Hema and Girija are

on either side of Ishan. Who sits at the extreme left? / ﬁlﬁTrlT, ERUG IR Td /AT Udh T RS 4y %l



WM & Tra o I@! aril 3R 3| | ¥ v fife, 33 & Y 8k §| P Twhen il JoT g 2
® Hema / gHT
e Girija / ff¥em
® Ishan / S
® Francis / WBTF-09
Correct Answer :-Girija / RIf¥em
10)

Question Stimulus :-

Which of the following is the cause of tsunamis? / ﬁyﬁﬁaﬁ'—rm ﬁqTFh G| EFITUT%?
® (Cyclones over the sea /Wﬁw
® Monsoons / HIA
® Earth quakes under sea /Wﬂ?a?:ﬂ% Yhy
® Gravitational pulls by Sun and Moon /&é&ﬁ?mﬁmaﬂtﬂw

Correct Answer :-arth quakes under sea / TS & -4 YHU

11)
Question Stimulus :-

Telangana became the 29'" state of India in 2014 by reorganizing . 12014 ® TG YR T 2991
WS’HW%H:R IS gIRT 9471 YT-

® Andhra Pradesh / Gﬂim'a'ﬂ

e Karnataka / BICHI

e Kerala/ H¥el

* Odisha/ 3NfS=m
Correct Answer :-Andhra Pradesh / GH’HCI%QT
12)

Question Stimulus :-

p + q means p is theson of q; / p+q$r3{2f%ﬁ? p,qib‘rgﬁ%



p - q means p is the wife of q; / p-q 134 3 & p, q B Ul 8
p ° q means p is the brother of q; / pxq ®T 34 & f& p, q BT HE
P . q means p is the mother of q; / p.q @1 3d &P p, q FI AT E

p = q means p is the sister of q. / p=q ®T3Ad & fF p, q P T8 &

WhatdoesP =R , Qmean? / P =R , Q &1 &7 31 82
e Pisthe aunt of Q /P, Q P TRN &
o Pisthesisteron/P,Qa"ﬁW%
° QisthenieceofP/P,Qﬁ‘l-R'ﬁTrﬁ%
° QisthedaughterofP/P,QEfﬁHEﬁ%
Correct Answer :-P is the aunton/P,Qa’ﬁil'ﬁﬁ%
13)

Question Stimulus :-

Which State is known as the ‘land of five rivers?’/ {3 ITog &Y ‘qﬁqﬁlﬁ 3| ‘3;[&[' & ATH & ST AT %?
® Madhya Pradesh / W WRT
® Punjab / USITd
® Meghalaya / AYTed
® Chattisgarh / m‘ﬁ
Correct Answer :-Punjab / USITd
14)

Question Stimulus :-

A+B means A is the brother of B, A-B means A is the daughter of B and A*B means A is the
sister of B. What does Q-R*P mean? / Gl A+B BT 3Ad B8P A, BHTHE 2 Wd A-B BT 3f B fFh A,
B T 2 wd A*B &1 3 2 i A, B #1987 8] Q-R*P &1 &1 314 @72

® P is the maternal uncle of Q / P,Q I HTHT %

® P is the brother of Q / P,Q T ‘J-I'Ig %

® P is the nephew of Q / P,Q I ‘I-IT'ﬂTrlT%



® P is the father of Q / P,Q T ﬁ?ﬂ%

Correct Answer :-P is the maternal uncle of Q / P,Q T HTHI g

15)

Question Stimulus :-

If the figure on left is folded to form a cube, then which of the following options is the face opposite to the face shown

at the right? / i IRfY 3R WR SMFfA Y 7 B} ToT H1 & T wics fbar oman @, ot g el & F +14
¥ faren ¥ wae el ok REr T was & faudia 32

Correct Answer :-

16)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg Ao i[ﬁ't{
it fRE 7T HYHY vd frepul & ¥ § 9 2

Statements: / $YH:
All angels are rooks. / T4 BR=d 37 |

All rooks are bishops. / it o7 famg %'I

Conclusions: / fAem:
I. No bishops are angels. / 315 ¥} fa=g wRea a8 &1
II. All angels are bishops. / mﬂw&aﬁ fo=mg %'I

e Only conclusion I follows / $ad fspY I fAreerdar 8



e Only conclusion II follows / pad frspy 11 fAwear

e Both conclusion I and II follows /?ﬂ:ﬁ ﬁWﬁf I \?rﬁ? II ﬁm %

e None of the conclusion I or II follows / Y 1arII o ﬁ ﬁz{ qﬁ IECANGI %
Correct Answer :-Only conclusion IT follows  ad freed 1 e %
17)

Question Stimulus :-

British changed the name of the state from to Orissa. / fafe=r= m BT ATH dgd & - 13 ﬁ'CIT Yri
e Odisha/ 3fS=m
e Odia/3NfSam
 Oriya/3f&ar
* Ohia/ 3ifgaT
Correct Answer :-Odisha / 3TS=T

18)

Question Stimulus :-

Ashok Shandilya is associated with which of the following games? / 3T Nifsed g forw Qe A dafya %'?
e Badminton/ 98f¥a
e Cricket/ fhdbe

® Lawn Tennis/ @19 ¢f<g

e Billiards/ faferas

Correct Answer :-Billiards/ faferas

19)
Question Stimulus :-

The Guardian of the Constitution of India is- / HIRd 1 Afaerd & fHHTas %:-
e Indian Parliament / HIRA g 949G

® Supreme Court of India / HIRd BT SdH UTATY



® Prime Minister of India / HIRd P UHUTHHAT
® High Courts of the States / HIRd I 3= ATIATTH

Correct Answer :-Supreme Court of India / HIRd BT I=dH ATATAd

20)
Question Stimulus :-

If mobile phone is turned on, then if someone cries then the rotator rotates. The rotator is
rotating while the phone is on, then someone is crying. /wnﬁmaﬁaﬁ%mwi arafe
BIS AT @ A A THAT 21 B BT i RN W MR g W1 8, A 1L A @RI

* True / Jgl

e False / TTdd
e Maybe / B 9%l g
e Irrelevant / 3RS

Correct Answer :-Maybe / B H&dl &

21)
Question Stimulus :-
Five members A,B,C,D, and E of a family read a religious book in a definite order;
e First C gave to D after reading the religious Book
o After D, A read who was just previous reader to E
e B is the last member to read
Who were two continuous readers between C and E? /
U URAR & Ul Ye A,B,C,D, U4 E Te Hf¥a 0 o e uifife qwae ued 3:
e TEA C A 91 uififer T U & 91 D B
e« D& dG, A Ul Sl P E A S fUoar urss o
« B Uad Sifdw g oM uer
CUJGE & A & | gl AR uI6® 9 2

® DandA / DTT A

® CandB/CUJB



® AandE /ATJE

® BandD / BTA D
Correct Answer :-Dand A / D T4 A
22)

Question Stimulus :-

In the following question, there is certain relationship between the first two words. Choose
the fourth word from the following options which has a similar kind of relation with the

third word. / 9 7% ¥, T8d <t Teaf & &9 Wy Wy g e Qe § & @t s g vt G
g F Y I THR BT HGY B

PRESIDENT: COUNTRY :: CHIEF MINISTER : ? / Tl'g'lTﬁf : OFT :: 'ﬂ@ﬁ?ﬁ: ?
e Town / Wg?
® State / Y
* Village / g
® District / G
Correct Answer :-State / 39
23)

Question Stimulus :-

Which of the following districts does NOT belong to Indore division? / frrafafed foral & S o= a1 foren

SR TUTT FT -TE 82

® Dhar / &R

® Jhabua / G

® Dewas / ¢ald

* Badwani / §SaT-l
Correct Answer :-Dewas / ¢aid
24)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg faweu gﬁrq
Sit 3T T Y=l wd el & R d 9E B



Statements: / ®Y:

No plugs are trees. / &3 ¥t w1 U8 &} 21

All threads are plugs. / 94 4T & €1
Conclusions: / fs:

I. No threads are trees. / &5 W 4T U &Y &1

II. Some plugs are trees. / P9 W ﬁgél

® Only conclusion I follows / pad fAreed 1 e %

® Only conclusion II follows / Fad e 11 Feaan %

e Both conclusion I and II follows / &I 15y I 3R II Fdad %

e None of the conclusion I or II follows / fed I a1 1T & & Hﬁg :Iﬁ ICEANGI %
Correct Answer :-Only conclusion I follows / Fad ey 1 Feaarn %

25)
Question Stimulus :-

Pointing to a gentleman, Dinesh said, “"His only brother is the father of my daughter’s
father.” How is the gentleman related to Dinesh? / Tdh dwid Bt 3R SRIRT A 8¢, ez = el
“SHST SHAIT HIg W1 9 & fUrar & RAar 17 IoF, fAw & $9 Heifta 82

e Grandfather / <lal

® Brother in law / Eref:ﬁ'g
e Father / foar

® Uncle / 3&d

Correct Answer :-Uncle / 3i%d

26)
Question Stimulus :-

A railway network links some towns in a country such that tracks lie between M and N,
between M and O, between O and R, between R and T, between R and U, between T and
P and between P and S. No two tracks intersect each other except at the towns. A train can
travel from P to N only in that direction and not back. / QT:FW Acad S F PO mﬁﬁsﬂ
REANSAT e P TCRIT MMM NF T, MR O F 9, O MR F Y, RIIRTF a4, R U

¥, T 3R P & d9 3R P 3R s & g fRE | aﬁ%ﬂﬂa’rqzﬂmmﬁraﬁsﬁw ﬂﬁwgﬂ%ﬁ
trl%l%‘dq'e?r’aﬂ'cﬁ | TF YISt P @ N Had 331 3 & amr &% dadt @ o §ie &1 ez # =18



For a train to go from S to N, it is necessary to go through town: / fFfi vemSt w1 ald s A N
P WRE ST 8, 9 $H eI A SHT SR &:

* M

Correct Answer :-P

27)
Question Stimulus :-

Who built the Rani Mahal and Chaman Mahal in Islamnagar? / S¥ITHIIR # I Hed 3R T949 Hed fraa
I dTT Y1?

® Sultan Muhammad Khan / gedld e WIH
® Nizam Shah / fASITH TAe

® Dost Mohammed Khan / I HeWc¢ 9+

® Yar Mohammad Khan / IR HIgW¢ @

Correct Answer :-Dost Mohammed Khan / QIR e 91

28)
Question Stimulus :-

Pointing to a photograph, a lady tells Pradeep, "I am the only daughter of the lady and her
son is your maternal uncle.” How is the speaker related to Pradeep father? / T&% TR &1 3R

gﬁmﬁgmq’ﬁm% & AfgdT B sHad 9t § 3R IHBT ST ATYP AT &1 qadT
e Sister-in-law / 79Ig
e Either (a) or (b) / (a) 34dT (b)
e Wife / Ualt
* Neither (a) or (b) / (a) T (b) & ¥ IS 5

Correct Answer :-Wife / Udl

29)



Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawe
g, ab st R IR R s F Ia= 2 -

All Indians love curry and rice. / 9% YR $3 3T I9d Wig F3d &

e Some Indian love curry and rice. / PO YR Bt 3R Irad LUrerd Hd %'I

e Some Pakistanis love curry and rice. / S qIfpdrt B3t 3R Iad G B %I

e No non-Indian loves curry and rice. / aﬁ’s‘ ft IR-URAT B3 3R a9 Lipord '_'l—bpf CXGIN

¢ Indians do not love biryani. / HRAY faRart Lipa T T'Iﬁ |
Correct Answer :-Some Indian love curry and rice. / PO HRAT H Gﬁ?' Irad Ude B %.I
30)

Question Stimulus :-

“Mook Nayak” was written by / “J&® ATdPh"” ?F'la?ﬁ'RT fafea %
® B R Amedkar /a:f\’rlﬂ' FASHI
® BC Chatterjee /w Teolt
® Vivekananda / ﬁaa?l:lr_({
® Aurobindo Ghosh / 3Rfaal €y

Correct Answer :-B R Amedkar / 913X 3FESHT

31)
Question Stimulus :-

Which river divides the district of Guna? / BT &} AT Fora # faurfora gt 82
® Tawa / ddIl
* Jamni / STHAY
e Sindh /Ry
®* Tamsa / dHHAT

Correct Answer :-Sindh / RiY



32)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faeeu

g i sl AR Rrws= & qu= 2 -

If you hit a sixer then only we can win the match. / Tlﬁ dH QdDhT SRIGH ?f, »ad adft BH 9 o
Tqhd g

* If you do not hit a sixer then we cannot win the match. / afg dH 9Dl T8 TITd B 99 g9 99
T8l Sitd wepd |

e If we win the match then you must have hit a sixer. / Tlﬁ BH ﬁa Siid \‘rn?r %., dd ﬂtﬁ BLEdl
T R

e If we do not win the match then you must have hit a sixer. / Tlﬁ °H 'a?[ T'I_E»pf Trﬁ?‘la % dd ﬂ'ﬂﬁ
BT T SR

e Six runs are required to win the match. / A9 Siidq & 'I%IT{ BI I B ATagHAT %’I

Correct Answer :-If we win the match then you must have hit a sixer. / 'CI'% eH A9 il STd %:, dd

T SFRPT AT RIT

33)
Question Stimulus :-

Who introduced the dual government system? / f& sraeta yomrelt &1 Ry e far ar?
® Robert Clive /TIE_(.F CSIER]
® Warren Hastings / CIEG| m
® Lord Cornwallis /Flﬁ Hr4arery
® Lord Hastings / qrs m
Correct Answer :-Robert Clive / ITd¢ ATSd

34)
Question Stimulus :-

Chaturbhuj Nath temple is located close to which sanctuary? / ilﬁ'l;ITrT 1Y HieR fFe sy & U Ry %?
e Ken Ghariyal / G| ufsara
e Son/JH



® Gandhi Sagar / T IR

® Shivpuri/ ﬁﬁ'ﬂﬁ

Correct Answer :-Gandhi Sagar / M€l §R

35)
Question Stimulus :-

India and Srilanka are separated by ./ HIRd 3R frddT R o e8dn gid %I
® Gulf of Alaska / ATEDT DI WIS
* Gulf of Kutch / &5 @I @ISl
® Palk Strait / UTh STASHIH
® Gulf of Khambhat / GHTd Bt E'I_{ﬂ

Correct Answer :-Palk Strait / UTh STASHIH Y

36)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg IGCa ﬂﬁt{
Sif 3T T Syl vd el & R d 9E B

Statements: / ®Y:
Some eagles are oranges. / $© did AR Bl
Some eagles are not green. / $S dId g3 ALl &l

Conclusions: / faemd:
I. All green are oranges. / I. 94 ¥ A €1

II. All oranges are eagles. / II. 9 9 Hid €1

® Only conclusion I follows / ad freed 1 e %

® Only conclusion II follows / Fad ey 1 fAeaarn %

e Both conclusion I and II follows /azﬁ ey 1 Gﬁ? II fAoad %

® None of the conclusion I or II follows / Al 1 ar1x ﬁﬁﬂﬁ% T-I‘apfﬁfaw_crm%



Correct Answer :-None of the conclusion I or II follows / A=pY 1 a1 II # @ HI5 78I Fpaar

g

37)
Question Stimulus :-

Jawaharlal Nehru was the first of India / STATERATA e URA B UYH ___ &I

® Vice President / mﬁf

® Prime Minister / WUTHHAT

® President / TI'E"T&[

® Deputy Prime Minister / 39 YA

Correct Answer :-Prime Minister / WUTTHAT

38)
Question Stimulus :-

Identify the odd one out. /ﬁ‘cn:r tl'eﬁlﬁ .
® Ganga /TiTIT
® Mahanadi /'FIFFI'QFT
® Godavari / Tﬁaﬁ'ﬂ
® Krishna / PWIT

Correct Answer :-Godavari / TMg@ast

39)
Question Stimulus :-

X is the Husband of Y. A is the sister of X. D is the sister of Y. How is D related
to X? / X, YSTUfA BIA, X 1 98T 81 D, Y F1 984 &1 D, X ¥ & Wafda g2

e Son / de
e Uncle / siga
o Sister-in-law / 79¢

e Can’t be determined / fuifva =8t foar s T&ar



Correct Answer :-Sister-in-law / 99¢

40)

Question Stimulus :-

X is the son of Y; Y and L are sisters; Z is the mother of L and' P is the son of Z. Which of
the following statements is true? / X, Y W@ET%; Y 3R L El%ﬁ %; Z L Eb"fﬂTﬂT% MR P,z &1 ST
g1 g & A 9 91 FY7 98 82

e P and X are cousins / P 3R X TR HE &

e Pis the maternal uncle of X / P, X & AT &

e L is the maternal grandfather of X / L, X & 918
e Cand P are sisters / c3lRPagd &

Correct Answer :-P is the maternal uncle of X / P, X & 9FT 8

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

A 35 cm long line segment is divided into two parts in the ratio 3:4. What is the length of the longer part? / Tdh 35

It Tt Yar W B &t URT A 3:4 & Sgud F fyuiiora v oman 3) a9 R 9 aais w2
° 20 cm/20 9
o 18cm/ 18 AH
e 15cm/15Ht
o 11cm/ 11 TW
Correct Answer :-20 cm / 20 94t
2)

Question Stimulus :-

In a certain code language 'My favourite hero’ is written as ‘deto vya nerolo’ and ‘Hero
is great’ is written as 'meb deto nya’ . In that code language the word for '‘Hero’ is: / it
W B N ﬁ, '‘My favourite hero’ & ‘deto vya nerolo’ 3T ‘Hero is great’ F1 'meb deto
nya’ ? forar 8| S FIs U A ‘hero’ ¥ forT oIt @:

® deto

[ ] Vya



® meb

® nya
Correct Answer :-deto
3)
Question Stimulus :-

Fill up the blank: 15% of is 60. / Yo T BT WR: &1 15% 60 %I

° 40

® 400

® 90
Correct Answer :-400
4)

Question Stimulus :-

The cost price of 30 pens is the same as the selling price of 27 pens. What is the percentage of profit or loss? /

30 A BT HI-YeI 27 HAH! & [Ipd-Ted & TUTH | ATH YQT g1+ BT Ufa=Id J19 B9 |
® 10% profit / 10% <ITYH
® 11.11% loss / 11.11% &I
® 10% loss / 10% ETﬁI'
® 11.11% profit / 11.11 ATY

Correct Answer :-11.11% profit / 11.11 <Y

5)

Question Stimulus :-

Fill up the blank: The pass mark in an examination is 100. This is 40% of the total. The total is ./ Raa
WM $ W: TP Wiem ° Idvifs 100 3| 98 T B140% 3| Fd o
e 250

®* 140



® 160

® 200
Correct Answer :-250
6)
Question Stimulus :-

Complete the series choosing the missing number: / ﬁﬁ'ﬁ =T gD gadl Gl T PIfT :

80,40,20,10,

e 3

Correct Answer :-5

7)
Question Stimulus :-

In a certain code language 'world wide web’ is written as ‘jim jom jima’ and
‘Country wide network ' is written as ' juma jima joma’. In that code language
the word for ‘wide’is: / {5 @9 s YW #, 'world wide web’ &) ‘jim jom jima’ 3R
‘Country wide network '’ cal juma jima joma’ o foran %l I Bis U H ‘wide’ & fore o= ?:

® juma

® jima

® jim

® jom
Correct Answer :-jima
8)
Question Stimulus :-

The mirror images of four words are shown below. Three of them can be made
from the letters in the word CARAMEL, but one cannot. Which one? / IR Y=l &
<dur ufafde R fRw 7w §| 3% | @, =g *CARAMEL’ & 31&RY | ST S & d &, g TP 81| a8



P 82

. SIA
. (WA
. SLAN
S

ASA

Correct Answer :-

9)
Question Stimulus :-

In the sequence shown below, which figure comes next? / R R 1 w9 o spTeht &Wﬁf
S I grft?

NG A RN

A&




4

m

Correct Answer :-

10)
Question Stimulus :-

Complete the series choosing the missing number: / ﬁﬂ'ﬁ AT AP gl Gl Ul P :

64,32,16,8,

* 0

e 1
Correct Answer :-4

11)

Question Stimulus :-

A fruit vendor bought bananas @ Rs. 5 for 6 and sold 4 bananas for Rs. 3. What is his percentage of profit or

loss? / U Bd fashdl A 6 Pl 5 UGl § WIS T 4 B I 3 $Udl # o9 feam 3D ATY 3(¥aT g+ o1
ufer=rd Fm 82

10% loss / 10% 8T+

10% profit / 10% dIH

8% loss / 8% BIF

8% profit / 8% <Y
Correct Answer :-10% loss / 10% &I+

12)

Question Stimulus :-



Sudhir can do a piece of work in 20 days. How much work can he do in 4 days? / ﬁ?n'\" o<t o1l 3 20 e o T
Y b dl 8| 98 4 &7 A fra=r &1 #% goar 82

° 1/2

° 2/3

° 1/5

* 1/10
Correct Answer :-1/5
13)

Question Stimulus :-

Radha can paint 35 paintings in 25 days. In how many days can she paint 55 paintings? / ITHT 25 fai ® 35 o=

Ue BT Pl | 98 55 o faq feal # Ue &= godt 82
40 % days/ 40 v fa=
o 392/7 days / 392/7fe
e 331/3days/331/3 fa
e 321/3days / 3213 fa
Correct Answer :-39 2/7 days / 39 2/7 f&=
14)

Question Stimulus :-

In a certain code 'My sweet heart’is written as ‘cel agase xena’; ‘Mango is
sweet’ is written as ‘agase mnkol sey ; and ' Mumbai is costly’ is written as '
Bomba sey deara’ . In that code the word for ' mango’ is: / f&dt @9 ®is §, 'My
sweet heart’ &1 ‘cel agase xena’ A fer@n % ; 'Mango is sweet’ Cal ‘agase mnkol sey’ 3R
Mumbai is costly’ &1 ‘Bomba sey deara’ A feran %l SHFsH mango’ & ﬁl‘t{ Qe %:

® mnkol

® xena

® deara

® agase

Correct Answer :-mnkol



15)
Question Stimulus :-

A seller sells a book for Rs. 24 and loses 20% of the cost. What would be the profit or loss if he sells for Rs. 27? / Tdh

m%wmmﬁMFﬁm%aﬁ?mm 20% BIS 34T 8| ATH 31yl g1+ a1 ghft afe a8 27 o

e LossRs.1 / 'Ea'Tﬁ 1E

¢ Profit Rs.4 / dIH 4%

® Loss Rs.3 / ETﬁf 3=

® Profit Rs.6 / dIH 6
Correct Answer :-Loss Rs.3 / 8IfF 3%
16)

Question Stimulus :-

Evaluate 5793405 x 99999
® 579334706505
® 570334706595
® 579334346595
® 579334706595

Correct Answer :-579334706595

17)
Question Stimulus :-

In the sequence shown below, which figure comes next? / < RGR T4 HH § [T MHfd
P ot grft?

(T~ 5 A
© & \&| Y

O




Qf

@

©)

Correct Answer :-

18)
Question Stimulus :-

35% of is 105. / BT 35% & 105]
e 225
o 285
e 300
e 315

Correct Answer :-300

19)
Question Stimulus :-

Find 75% of 1/4 of 18506432 - 2020000. / 18506432 - 2020000 T 75% JTd P
® 954652
® -863348
® 3091206

® 30901208



Correct Answer :-- 863348

20)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬁlﬁ' 3I&R AR gl | T PITE 00 _ 000

__ 0000 _ 0000 _p
® pooo
® ppoo
® pppp
® pppo
Correct Answer :-pppo

21)
Question Stimulus :-

Complete the series choosing the missing number: / ﬁﬁ'ﬁ &A1 AP gl Ca| ORI P :

1,3,6,12,24,
* 40
o 28
e 34
e 48
Correct Answer :-48

22)
Question Stimulus :-

If TIME is coded as UIJNF, how is WASTE coded? / af¢ TIME &I UJNF 9 ®ifed foaar wirar g, af
WASTE &1 &3 ®ifed foar &rar g2

® XBTUF
* XCUVA

* XDUXE



e XEWXF
Correct Answer :-XBTUF

23)

Question Stimulus :-

If STAGE is coded as UVCIG, how is HERO coded? / If¢ STAGE &1 UVCIG A ®ifed far wirar g, ot
HERO &1 &4 $ifed f&ar &ar 22

* JKOQ
* JGTQ
e JSNP
* DSPQ
Correct Answer :-JGTQ

24)

Question Stimulus :-

The price of a certain brand of shirts has risen by 20% in one year but during the New Year season, a discount of 5%

is offered. What is the effective increase?/Wﬁﬂﬁmaﬁm%H@ﬁ@ﬁﬁ 20%%@'@@% U¥=q dq
¥ IS & R 5% BT TP Fe W Bt A yuTdt 3fS w1 82

°* 15%
* 14%
* 16%
* 12%
Correct Answer :-14%

25)

Question Stimulus :-

Parekh’s PANCARD, Voter’s ID and passport humbers are ABTFW4632P, HYV4475328 and
F4160087. Check which of the following is the same as these. /_ URE 31 9 ?FT%‘, Hdqldl ggdTd
UF U9 YU T € ABTFW4632P, HYV4475328 Ud F4160087. Silg &1 f g A & 19 g9

JHHE 2|
e ABTEW4632P, HYV4475328 and F4160087

® ABTFW4632P, HY V4775328 and F4160087



® ABTFW4632P, HY V4475328 and F4160087
® ABIFW4632P, HYV4475328 and F4160887
Correct Answer :-ABTFW4632P, HY V4475328 and F4160087
26)
Question Stimulus :-
In the following question, one term in the number series is wrong. Find out the
wrong term. / 9 uy ®, T= Smem # U Ug Td 8| Ted Ug FId Siford |
2,5,10,17,26,37,51,65
°* 17
°* 26
® 51
® 65
Correct Answer :-51
27)
Question Stimulus :-

The product code of the windscreen wiper of Maruti Alto car is / A®[ 3iieel PR &
fiswpIa TR &1 IS HIS 8:

MUL:ISZ:56438756:Rub/77650:Alto:ext:003487017854

Compare it with the following and identify which of them has exactly one

mistake. / 9 & 9 a1 $X T4 UgTM fb 390 | fH9H A TP T g
® MUL:ISZ:56438756:Rub/77650: Alto:ext:003487027854
® MUL:ISZ:56438756;Rub/77650: Alto: Ext:003487017854
® MUL:ISZ:56738756:Rub/77650: Alto:ext:003487617854
® MOL:ISZ:56438756:Rud/77650: Alto:ext:003487017854

Correct Answer :-MUL:1SZ:56438756:Rub/77650: Alto:ext:003487027854

28)

Question Stimulus :-



Fill in the blanks: X, a milkman adds 3 litres of water to 10 litres of milk. The milk Y sells is 18% water. The water
content in the milk Z sells is 6/31. Arrange the vendors in decreasing order of the quality of the milk. / Raa == ot
W: X, U TqTdT 10 dieX gy ¥ 3 diex urHl fAamar 8| Y it gU J9ar § SUST 18% U 8| Z St gY S9ar @
ITH U Y 4T 6/31 | gY P YUET F MUYR W Aparait &1 ged H § Jod |

* X,Y,Z

Correct Answer :-Y, Z, X

29)

Question Stimulus :-

In a stationery shop pencils cost Rs. 96 per score and ball pens cost Rs. 50.40 per dozen. What is the ratio of the price

of a pencil to that of a ball pen? /WW ﬂﬁ?ﬂ"ﬁ ﬁ,ﬂﬁ?ﬁaﬁaﬁnageﬁuﬁwﬁ?%aﬁ?a‘hﬁﬁ
F1Ud 50.40% Ul goiq 8| U &) FHa T aid 99 &} S1Hd BT JUTd T 872

° 4.3

* 5:8

o 8.7

e 7:3
Correct Answer :-8:7
30)

Question Stimulus :-

Complete the series choosing the missing number: / ﬁﬁ'ﬁ =T gD ydl Gl Ul DI :

1,2,4,8,16,
e 20
e 24
e 28
°* 32

Correct Answer :-32



Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

The rational number ~1¢ / ufig S= -6

* has either a positive numerator or a negative numerator / # 91 @ TF YTHS
SIRT T TDH BUMHD A %|

e has a negative numerator / # U% BUTHS 3 gl

* has neither a positive numerator nor a negative numerator / # 9 1 T YTHS 3 8
T4 9 & T BUTHS 3T 2

e has a positive numerator / § U Y-TcH® 3T 2|

Correct Answer :-has either a positive numerator or a negative numerator / t: )
a TP YATHD 3R T Th BUIMTHD 3T g

2)
Question Stimulus :-

ABC is a triangle. Find the locus of a point P which moves such that area of AABC = area

of APBC. / ABC % f®iur 21 fig P &1 fawia fAwifere f5 A ABC &1 &7wd= A PBC &1 &9%d
® Aline parallel to AC and passing through B / AC F JHIOR Udh I@T S B | TolR T&ﬁ %
® A line parallel to BC and passing through A / BC F JHIMR Uh Y@ ST A | TolR LE| %
® Perpendicular bisector of the side BC / Y4IT BC &bl w9 W
® Median of the side BC fromA / A q YSIT BC T AR

Correct Answer :-Aline parallel to BC and passing through A / BC & gHIAGR Th IGTSIA 9 TolR ?ﬁ %

3)
Question Stimulus :-

The sum of two numbers is 216 and their HCF is 27. Find the numbers. / ﬁ'ﬂ'@TﬁﬁW?ﬂ'ﬂ %
216 3R ITHT HCF § 27| §&IE fAaifau|

® 27,189

® 154,162



® 108,108

® 81,189
Correct Answer :-27,189
4)
Question Stimulus :-

To ensure people don’t slip in wet bathrooms, anti skid tiles are used to / g ﬁﬁl‘fﬁ'ﬂ A D ﬁE f& @
i wreR § 78 fpwd, fraeq A ersw wgaa ! ot @

® to reduce the friction between the floor & the feet /TFQf IR W & &9 giur & $H B & ﬁl’({

* to increase the friction between the floor & the feet / B=f 3R Wi & o7 Tefor o q@ TH D
ferg

® make it look attractive / 3TPYD a9 & ﬁl‘Q
® make the surface smoother / ddg &I fRIP 91 & ﬁ'l'{

Correct Answer :-to increase the friction between the floor & the feet / %Y MR W & "
Tyur # gfx 1 & e

5)
Question Stimulus :-

ABC and BDE are two equilateral triangles such that D is the mid-point of BC
and E is the mid-point of BA. Find the ratio of the areas of triangles ABC and
BDE. / ABC 3R BDE &I J9a1g A1 39 oK § f& D § BC &1 0wy fdg 3R E 8 BA &1 0y fg|
f®Iur ABC 3R BDE & &Fwdl &1 3gurd fRApiferg|

Correct Answer :-4:1
6)
Question Stimulus :-

Find the value of x and y if x+y=6 and 4x+7y=36 / x 3R y &1 4 F&fr afe x+y=6 3
4x+7y=36



* 24
e 4,2
e 1,1
e 0,0
Correct Answer :-2,4
7)
Question Stimulus :-

Which half of the heart sends blood to different parts of the body? / g4 &1 &9
1 31¢f URT IR & fafa yrn & 3o &Y Aerar @ 2

® The upper half / HURT 3ref HTT
® The lower half/ﬁ? 3ref Wt

® The right half / SIaT 31¢f W

® The left half / ST 3¢ HTT

Correct Answer :-The lower half / 8 31¢f 4T

8)
Question Stimulus :-

An ice block is left to melt on a metal tray. When the ice block melts / T T BT G Th UTfas a' R
frgeq & foe ois fear ma1 81 919 9% &1 Ws fUgeddar @ a9

® The temperature of the metal tray decreases / urfas a' DI dTTHTT hH '6;[ SITdT %I

® The temperature of the metal tray increases / uTfea® a' DI dTUHT dg SITdl %I

® The temperature of the ice block melts above 0°c /El'd? T BT argq= 00 C A FW '&ﬁ_cIT %I

e The temperature of the ice block is below 0° C / 9% &g &7 a19A 0° C ¥ = giar 21

Correct Answer :-The temperature of the metal tray decreases / urfas a' BT dTYHTA HH 3-1 SITdT %I

9)
Question Stimulus :-

The upper two chambers of human heart are called---------------- and the two lower chambers are called---------

-/ T F HUH G DI oo HEATA § SR 19 & BT e Fga 8



e Atria, ventricles / uf¥®g, e

e Atrium, venules / 3ifeis, 3qe

e Auricles, veins / 315, RRT

e Aorta, ventricles / #gTeHAl, e
Correct Answer :-Atria, ventricles / Y&y, e
10)
Question Stimulus :-

The curved-surface area of a cylinder is 2640 cm? and the circumference of its
base is 66 cm. Find the volume of the cylinder. / T®& 3@ &7 a%-U¥ &3%d 2640 JH2 3
3R 3P YR Ht URRY 66 A 8, A I FT 3maa= Fwiferg|

® 174240 cm?

® 6930 cm’

* 13860 cm?

® 27620 cm3
Correct Answer :-13860 cm®
11)

Question Stimulus :-

The following graph shows the gross profit and the net profit of a bank (Rupees
in crores) during four quarters of 2004. / 33 7T 3% ¥ & d§& & 2004 & IR famRA &
R JHd a1 Td e a1H ( FUd FRis T) $ g=itar T 3|

bbb

In which quarter was the ratio of the net profit to the gross profit the highest? / g ﬁI'FITE?f A fRaa a Td ghd

60

50

40

30

20

10




AT BT UTd Faifus g2
e 1
e 2
e 3
e 4
Correct Answer :-3

12)
Question Stimulus :-

A flower may have either a male or a female reproductive part such flowers are

called ____ / U% YW ¥ I1 6l 7R 41 HIGT & SF-19 YT & 9P 81 TN [ Hgard &
e Staminate / GhER!
* Ppistillate / S THU]
® Neutral / SGTHIA
® Unisexual / Gebfeitil

Correct Answer :-Unisexual / ahTeitit

13)
Question Stimulus :-

The sound produced by piano is different from the sound produced by a flute because of the /ﬁTIFﬁ [-1Kd|
Iq7 af Tge gRT S @t~ & fird g1t 81 391 PR @

e Quality / JOTAT
® Frequency / \m?!ﬁ'f
* Loudness / Udadl
® Pitch /R«
Correct Answer :-Quality / TOTdT

14)

Question Stimulus :-



The plant that reproduces through spores is / 3 MY 5 Aemvet & gRI
TS B &

o Fern/tI'UTf"T
e Yeast / @R

® Potato / 3Ic]
® Spirogyra / W@TﬂﬁT

Correct Answer :-Fern / 9T

15)
Question Stimulus :-

Directions for the following four questions: Study the graph below and answer
the questions. (Consider approximate values for answers) / =@ 3T T IR u%i & fow
Fézr R T T3 UTw BT SremE Y SR Uyl BT S<R &1 I & forw srgwfa e R faaR 33

Production of Grains by a STATE(Tonns)

mhaize
= Other

Grains
R Fulses

@ Barley

If the percentage of production of Pulses is distributed equally among the rest of the Grains, what will be the

percentage of Rice producﬁon?/qﬁmﬁ%m%maﬁ 3 mﬁWﬁﬁﬂﬁﬂﬁ?ﬂTW
oY Irad & TG BT Ufazra faar gm?

* 22
* 26
° 24
e 25

Correct Answer :-26



16)
Question Stimulus :-

In very cold countries the thermometric liquid used is alcohol because / 9gd $S oz | Ugdd HEKC I
ATUATRY 59 Teploidl @ TP

® The freezing point is lower than that of mercury/qﬁ @t LGEL i | EXEd) %H'I'GF DH Eﬁ'cIT %I
® The freezing point is higher than that of mercury / R @t LGEL | EXEd] feui® oifte @?IT %I

e The boiling point is much higher than that of mercury / vﬁaﬂmﬁmﬁm qdgd

HfYF T 2|
* The boiling point is same as that of mercury / FAPT HYAIP UR & JUH ﬁ?IT%I

Correct Answer :-The freezing point is lower than that of mercury/qﬁ' 3| LR s | EXEal %FI'H'T DH

g 7l

17)
Question Stimulus :-

A colour blind person / U quit=] fad
® Cannot see in dim light / §¢ UBTRI ¥ 81 <@ g&dT %
Can see all objects of white colour/ﬂﬁ’_d 7 Bt gt a'rg'eﬁ &I aﬁ Hhdl %
Cannot distinguish certain colours / & TN H Yg 8 P gbaT
Can see with lens of proper power/Gﬁlﬁ fed & a9 9 aﬁ b dl %

Correct Answer :-Can see all objects of white colourlﬂ'a)_c{ 7 &t gt ﬁ\’tﬁ &I ﬁ@ Hhdl %

18)
Question Stimulus :-

If a solid sphere of radius 10 cm is moulded into 8 spherical solid balls of equal radius, then the radius of each such ball

is ./ e TF 10 ¥ F B P FT G9H Hd SRER a1 Bt 8 Moy 31 A =kt wr §,
e T g B ahh |

1.25 cm

2.5 cm

3.75cm

5cm



Correct Answer :-5cm

19)

Question Stimulus :-

When the distance covered by an object is directly proportional to time, it is said to travel with JASC)
ot avg g1 99 B 1S g WY & STHATIUITA § @) T8 FeT oATaT 2 6 A & 1Y Pt
T 3§t B

zero velocity / [0 aT

constant speed / fRR 7fd

constant acceleration / fRIT @RI

uniform acceleration / THHHTT cdRUT
Correct Answer :-constant speed /R ufa
20)

Question Stimulus :-

In a certain region, as the wind speed increases, air pressure / PO aﬁ ﬁ, o 'a a1g @I ufd a%?ﬁ %, G| a a1g
qid

decreases / ¥cdl %

increases / daGdl %

remains constant / RR Yedl %

increases up to a certain limit and then decreases / $© T TH dedl % GﬁT v gear %
Correct Answer :-decreases / 9cdl %
21)

Question Stimulus :-

Directions for the following four questions: Study the graph below and answer
the questions. (Consider approximate values for answers) / -1 R T IR i & forg
ez R RT3 UTw FT1 SremE Y SR UYl BT SR &1 I & forw srgwfa g R faaR 33



Production of Grains by a STATE(Tonns)

mahaize

= Other
=rains

N Fulses

= Barley

What was the ratio of production of Barley and Rice? / S 3R 919d & I BT SIUTd T YT1?
11/4
15/56
4/13
4/11
Correct Answer :-4/11
22)

Question Stimulus :-

Find the least number which when divided by 5, 6, 7 and 8 leaves a remainder 3, but when divided by 9 leaves no

remainder./W%WWWS,GJ@WW“@Bﬁﬁm%,amﬁgﬁﬁ‘-lﬁﬁm%
t B A T A

1677
1683
2523
3363

Correct Answer :-1683

23)

Question Stimulus :-



CDE&CDS[\QD: - 5‘.]
cot|90° — 8|

Sin2 s

Cos2s

Sin 26

Cos?s
Correct Answer :-Cos?%
24)

Question Stimulus :-

Directions for the following four questions: Study the graph below and answer
the questions. (Consider approximate values for answers) / =@ Rt T IR usi & forw
Az R RT T8 u1w &1 sremmd &9 R Ul &1 IR &1 IWI & e srgwa gl R faur w¥)

Production of Grains by a STATE(Tonns)

| Maize
= Other

Grains
R Fulses

@ Barley

If total production was 7000 tons, then how much Pulse was produced in tons? / 'CI'% P 3dTg 7000 S UT a
&l # fpat gra &1 IdTe g3 UT?

1200
1400
1100

1150



Correct Answer :-1400

25)
Question Stimulus :-

One end of the wooden spoon is placed in a glass of ice crystals, its other end will also /FIT@ &I T BT
% RRT 96 & fpvea W ey & @1 wirar 81 9@t gt Ry ot

Become cold due to conduction / dTd & SR Sd 'bpf ST

Become cold due to convection / Jdg+ & SR d E?f SITET

Become cold due to radiation /ﬁm & BRI Hd Eﬁ SITET

Remain at the same temperature /Gﬁ GIFLIGR'CECE]) ?%TIT
Correct Answer :-Remain at the same temperature /Bﬁ dIYHT R d411 ?%TIT
26)

Question Stimulus :-

The plasma membrane is_/\_tﬁaa?ﬂ bl %_
Selectively permeable / Jrefug
Fully permeable / q:Uf IR
Partially permeable / 3w g
Impermeable / TUIRTH
Correct Answer :-Selectively permeable / STy
27)

Question Stimulus :-

The length of the elastic band attached to a block of wood & pulled along a smooth tiled floor is least

because / TP JaR 9US TP dhsl & TS P ITY ATH P G Pl fUda dd W @il SrdT & 3Bt
waTs # fRaard oW | &9 g1 § Fife

Less force is required to move an object over a smooth surface /ﬁﬁﬁ dd R 9y # e & ﬁl’t{
®Y 90 B ATaRgHd1 erd!

More force is required to move an object over a smooth surface /ﬁﬁﬁ e IR 9] # fRgeE &
fore st 9@ Y smaza@ar 3t 31

Friction does not depend on the nature of the surface in contact / aYur Juh o 3T el Bt lﬁsﬁf W



R 18 ®var 21
Static friction is more on a smooth surface /ﬁﬁﬁ Td )R Wfds ador siftre ﬁ?ﬂ %I

Correct Answer :-Less force is required to move an object over a smooth surface /ﬁ‘:ﬁﬁ de IR 9]

P fE9P™ & foU H7 90 B MawgHdr erdl gl

28)
Question Stimulus :-

The value of 3x+5y=200, 3x-5y=100 is / 3x+5y=200, 3x-5y=100 &1 4149 8
40,10
50,10
1,1
1,0
Correct Answer :-50,10
29)

Question Stimulus :-

Directions for the following four questions: Study the graph below and answer
the questions. (Consider approximate values for answers) / i@ foT T IR i & forw
e i fow 1A uTw &1 Sreaae HY 3R Ul &1 IR &1 SR F e srguifia gedl iR faar s

Production of Grains by a STATE(Tonns)

mahaize
= Other

=rains
N Fulses

= Barley

What was the ratio of production of Maize and Wheat? / Ha®] 3R ﬂEv & IdTG Bl SIIUTd T YUT?

3/19



3/20

4/18

5/11
Correct Answer :-3/19
30)

Question Stimulus :-

is an example of a bisexual animal / Iygferht Y[ BT 3alerul %I
Cockroach / fareragt

Earthworm / ﬁarr

Frog / He®
Lizard /w

Correct Answer :-Earthworm /harr



